n"w "7 '0N 2,0 P2 .7"02

We derive from this two rulings — 509N 7N PRw

OVERVIEW

The X713 said since the 770 could have written ¥¥52 ¥¥d (from which we would
know that one is liable for 11 2372 R5Ww 7vX) and instead it wrote ¥¥5 nnon vxo, this
teaches us (a second rule) that he is 217 on a 2w like a 7°1. MoDIN discusses the
possible ramification of the combination of these two rulings from the same ?102.

MooIN asks:
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And if you will say; previously the X721 stated, if he blinded the eye of his

friend erroneously or accidentally, he does not pay the four things; only p1 -
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The question is; he should be liable to pay for pain also, for in that same 02
(of v¥5 nnn vxo) from where we include 3 w2 pri, the liability for 2w is also
written in that same 105!

mBDIN answers:
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And one can say that as much as we are able to exempt a 332 from paying, we
exempt him -
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So therefore we establish this o2 (of v¥5 nrn y¥5) which includes 33w, only by
11, which is the main topic of discussion in the 109, but we do not establish the
109 (which includes 3W) regarding “wx.

SUMMARY
The liability of any unusual rule (such as 32w) is kept to a minimum.

'x"y mo.

2 The o127 '7 are DY ,N2W 19" WX,

? See “Thinking it over’.

* Since we need a 12" to include 3w, this means that without the 121 we would exempt 33w from paying anything,
therefore even after the "12°7, the liability of 22w is to be kept at the most minimal payment.

> The ‘simple’ reading of ¥¥2 Nrin vx2 is that he is liable for the monetary damage caused by the ¥¥5. However since
we already know from other 0’109 that one is liable for 11, we derive from ¥x¥5 nnn vxo the liability for 7v¥ (even
though this is not the ‘simple’ reading of the ?109). However when we include a1, we say that this w171 that 2212 is
liable, applies only to the simple reading of the 109, which refers to P11 (but not ).
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THINKING IT OVER

Why did mpoin ask only concerning 7wt;° since Mmoo taught us previously’ that
naw ,m9°7 and nw are derived from 7YX, so just as N90IN askes that A should be
liable for 7w¥, he should have included nwhaY naw »o7 as well?!®

% See footnote # 3.
"o "
8 See mwn noma.
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